SANSKAR CITY INTERNATIONAL SCHOOL

Class :XIl. SUMMER VA CATION ASSIGNMENT  Date -17.04.2017

Business Studies

LearnChapter 1 and Solve the assignment sheet.

Accountancy:

Solve all the examples of 6élssue of share cap
Economics:

Unit 1- Introductionand Unit2Consumer 6 s Equi |. (NCERT Questianardi De ma n
Answerwrite in your class work copy

Physical Education:

1. Draw the fixture of 8, 24, 21, 20, 16 teams by using knockout methods.
2. Draw the fixture of 9, 12, 13 teams by using cyclic method.

English:
Write the answers of Pr oseworkgcopyandledrn. and 4 of

Chemistry:

p- block elenents and coordination chemistry & solution.
Mathematics:
Matrix and determinants. (Assignment sheet)

I nformatics Practices :

Assignment sheet.

Physics:

Electricfield, Electric Potential, Gaudisw and uses. All conceptual and objective questions of
class 11"

Biology:

Chapteni 01-Reproduction in OrganisNCERT Questions and Answer write in your class
work copy)(Q.1 to 7)

Practical Completion (Experiment Niol to 19)
Except 14.2 fron€Comprehensive Lab Manual.
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Business Studies
Q.1. In order to achieve target production of 5,000 units per month, a
Production Manager has to operate on double shifts. Due to power
failure most of the time, the manager is able to achieve 5,000 units, but at
a higher production cost .In your point of view, what is lacking in

management?
Q. 2. 6l n an organization employees are
and the effect of management 'S not

management is highlighted by this statement?

Q. 3. MC Donal doés ,the f angds infitsonmenu togbe a n t
able to survive in the Indian market .Which characteristics of
management is is referred to ?

Q.4. Your grandfather has retired as the director of a manufacturing
company. At what level of management was he working?

OR

Your grandfather has retired as the director of a manufacturing company. At

which level of management was he working?

Different types of functions are performed at this level. State any one

function.

Q.5. Your grandfather has retired from an organization in which he is
responsible for implementing the plans developed by the top
management .At which level of management was he working. State any
one function performed at this level.

Q.6. At which level of management are the managers respsible for
maintaining the quality of output and the safety standards?

Q.7.Name the level of management at which the managers are responsible for
implementing and controlling the plans and strategies of the
organization.

Q.8. Why is management callednexact scienc@

Q.9. Karan Enterprise Limited is facing a lot of problems .Ilt manufactures
pens. It is suffering losses due to surplus production of pens. The
production department produces more of pens than required and sales
department is not able to sell those many pens. What quality of
management do you think the company is lacking?



Q. 10. Raman i1 s working as fdfplant s
managerial level at which he is working? State any 4 functions he will
perform as pPperant epldant osun this

HOTS

Q.11. In which two functions do manager at the top level spend more time
than managers at lower level of the organization?

VALUE BASED

Q.12. Nishita is the marketing manager of a company selling laptops she has
6 swbordinated working under her. On the last day of every month she
rewarded the efficient employees to motivate them.

Name the values which an organization inculcates among its employees
when it promotes efficiency

Q.13. Kushal ltd is a leading automobileompany in which the various
departments are setting up their own objectives without paying any
interest to the organizational objectives name the values which are
ignored by the departmental heads and the impact of it on the
organization.

Q.14. A clothmanufacture distributes its defective product at free of cost

after getting them repaired from nari niketan at lower cost to an orphanage

which values are being attested in this solution.

uper

C 0O mp



SANSKAR CITY INTERNATIONAL SUHUUL
Class: X11 Worksheet No.: - 01 Date :- 17.04.2017 P
Subject : Mathematics y

1.o1f A:(‘L - ;’},wa. A

g @ - | '
d: Zf foe [2 2, o} , Heenfind \'/HJ(“”’JTJ"*)‘)‘

O 4
I o = L =3 9 = 2
O — 1 |

P o A={: —7‘_ -‘W vw{'} Ao —

| i 2

AL CA + 9A-4IL =0 and hence fiad AT

5. Solwe ‘HNQ ea‘vxcobrv’n loa md’hf redind

0(4-23—%2-———7,‘ X2z = 1 11'33""’-'
o 26 = 3 T '_
6~ 1?‘ A= ["K Y —-Z]’ 5&%‘3% A = A7
e =Y o,

fnd i y,2
e s A8 S ner e
Fry= 0 Use Hais vesuli— 4ohad AS

8. Hod A 5& =0



. ,L \-i--x‘
@ 7(?'43757‘ d'""‘* o GL‘ ‘+31 =0 ALen Pnrvo._‘

4""“)\_ xyz—.—. e

@ (ds‘o Pr\fch’{.ﬁr’ta DQ‘ o{ch\_w'nadx 3 H\“D H«;-»!--

2
| a a-bc

| b b-Cq | =0
) et (1~_,a\:

2. tho Hhed—
QDH_C)i ba. o .

alb @H\)t clo
ac bt Qu,)"‘

=.2abc( <H~L-~e—c)3

4. olne the x:_o‘wfce’%"‘m
A+ a-—-x a-x
aQa-" at+x. a-% = 0

A—XK., a-x. QAT

e =
A ab ac
abk b+l bc¢ = 4o Te
cq. Clo Q'L-f—|
6 scha: B z
4 x+b C =0
b x+C






